EER
- wofT B N A fn 2 E 7 H 21 H 9 B 00 4
T £/
¥ ER) AMLAE W4T B N OE R & B 1,28 EmE
1 HEEFEEIEIS TH 24E10H 16 H
) EAMENE HalE A ERIENE
ES = % — — I
4 %A [[[=tva 4 % [[15thva 4 % [[1=thva
(Bk) BBk 24,270,000| 2
TERGHRE T (BR) 24,200,000] 1 &FL
(B) i HTH)E 24,330,000| 4
(Bk) I\ ZERES P 24,300,000 3
2 EINEBREBRERSARESIE IS (BETR) T 3427 12H
) H1EH 2l A ERIENE
ES = 4 — I
4 %A AT 4 % JEAE 4 %A AT
(Bk) B S sk 64,700,000| 2
() W TH)E 64,900,000 3
(BR) N ZERES AT 64,500,000] 1 L
3 EE/NERENEEIGKRESELSE (BHERE) TH 3424 12H
) H1EH #52la] #3[E B
3 = 4 — — [
& %A AT & % [[I5tva 4 ) [[1=tva
T B T2 (BR) 12,300,000] 3
(B RT3 12,280,000 2
=B L35 (BR) 12,200,000| 1 &FL
4 EINERERESBZKREIEIE (BERERK) THI 34E2H12H
) ENE]RE VAR ERIERE|
% = 4 T
& %A JIEAT. & %H JIEAT 4 %A JIEAT
(B)AFIBERLE 8,620,000 3
(k) = B 8,650,000 6
/N T (BR) 8,620,000] 3
fiE i S T2 (BR) 8,580,000] 1 &HL
(R brER T ¥ 8,600,000 2
() \EEEL 8,640,000| 5
PN T2 (BR) 8,680,000 8
(B) EMERTH¥E 8,650,000| 6
(A)Y*B FEIR

1/5R=T




5 THIETEfEERZEEEHE

TH] 2429H25H

- " 4 Fillel H Fi2lal B EERIEINE! W =
& # NEAT & NE AL & # [={iva

ARG 3,607,000 4

(F) LA 3,400,000| 1 VAL
TR 3,500,000 3

() A T s RER
() IRR 32 )5 FEIR
b 3 (BK) TR
(F) NET = TR
(BR) 22 RERAL)E 3,430,000( 2

BEABRIEE TEIR

2/5R=




L.
ﬁh‘@l

THE (E2) AHEE %&ﬁ E% %fu%$7?215;0ﬁ®j?
oA BT N FE I & & L 22@E
1 RETTHRETKEZELIE T 24E9H30H
o P, -
* # # & - I?; JEL. & - jﬁa NEAT & %:ﬂ?; JIEAL. L
(R AL T3¢ 9,120,000| 2
(#) ARAL 9,060,000 1 AL
2 \EfEREERAONREIE T 24F10H30H
o P, P
* # & & - l?; JEAL & - l?; JEAL & %gl?; JEAL L
(R 2 AR 7,710,000| 4
(k) ErzmEsk 7,850,000| 7
(F7) /IR AR TR
(F) 4 5wk TER
(W) Re T )k BB
(F7) /Nt A B R
() Mg 7,760,000 5
TR EERR (1K) RER
(e 272 7,633,000( 1
A 3 () 7,820,000 6
(BK) 2 HE3L)5 7,680,000 2
(k) &)1 17dEa% FER
(R) S Bk 7,681,000| 3

3/5R=




3 [BWWBREFFLIREERGEIE

T 24-10H30H

" = 4 H 1A H _ HE2[E B 3| A P
& #H JEAL & #H AL & #H JEAZ
(B 2 RAH 4,790,000 3
() Az mtak 4,870,000 13
(R ) 7B R 4,800,000 5
/NEEERR T (BR) 4,850,000| 10
() fy etk RER
(BR) Tl T3 4,820,000] 9
(BR) e LEs G TR
() /Nt e TR
APE T3¢ (BR) 4,790,000 3
(k) AT A TR
(R IAdb T3¢ 4,800,000 5
(BR) # G A 4,850,000| 10
(H) B2 hpE3E 4,850,000| 10
(F) Mg 4,810,000 8
(k) B e RER
() #Fn FER
AL 2 (BF) 4,740,000( 1 VAL
I\ERA (BR) RER
(BR) &)1 e 4,800,000| 5
(F) EBraEak 4,768,000 2

4/5R—=




- WwofT H B A f o2 & 7 H 21 B 11 B 00 4y
I H
F(ER) MBS w117 % OAT N ZE B & B OBl 28E=
1 REOEHERMETSE TH 248104 30H
) #1EH #2lnl | CRIENE
¥ = 4 — [
4 %A AT & %E JIEAT 4 %A JIEAT
R ot~ 14,700,000 1 &FL
YR RATEE (BR) 14,750,000 2
2 FOA—~HREMENERSHEIS T 24210H20H
. N EVAGINE ¢RI
E = 4 — I
4 %A JIEAT 4 % JEAT 4 %A JIEAT
R ot~ 9,670,000 2
WS AT (KR) 9,550,000] 1 &FL
3 FTETRETSHHRBEIESIE (i) T 24E10H20F
) H1EH 2l A ERIENE
ES = 4 — I
4 %A AT 4 % JEAE 4 % AT
g~ 7,700,000 2
UNGIEBEICGET V=€ i 7,800,000| 5
YRAT W) 7,650,000] 1 %EHL
(BR)ErE A 7,780,000 4
e TR (RR) 7,730,000 3
4 N\EREEKBRAONMELSE THI 24E11H20H
] EIERE 2l A #53[E B
¥ = 4 — — [
& %A AT 4 %E JIEAE 4> gl AT
BRI~ 3,950,000 2
PNEGIE BEICGPETEN=E 3,970,000 3
YR ATEERE) 3,930,000| 1 EFL
(BR)ER A 4,000,000| 4
b TR (BR) 4,000,000 4
5 FEHINEFRENEEAFRENEIEEEER TH 352H26H
] H1EA HalE A #3[E H
£ = % — I
& %A AT 4 %E JEAE 4 % JIEAT
(BR) B+ 2,600,000] 3
(B K=z 2,500,000] 1 %HL
Bk HATE 2,550,000 2
(k) ALl sk G s P 2,680,000 4
L R AR R () 2,698,000] 5 )




